
cfh ldlt 2075 ;fn >fj)f 7 ut] ;f]daf/sf lbg o; Jof; gu/kflnsfsf] gu/ 

sfo{kflnsfsf] a}&s gu/ k|d"v >L j}s")& Gof}kfg]Ho'sf] cWoIftfdf a:of] . a}&ssf] 

pkl:ylt tyf lg)f{ox? b]xfo adf]lhd /x]sf] % . 

pkl:ylt 

gu/ k|d"v    >L j}s)& Gof}kfg]    pkl:yt 

pk k|d"v    >L ld/f hf]zL    pkl:yt 

j*fWoIf j*f g+ 1  >L v/l;+ b/}    pkl:yt 

j*fWoIf j*f g+ 2  >L sfzL/fd >]i&    pkl:yt 

j*fWoIf j*f g+ 3  >L k|]ds"df/ >]i&    pkl:yt 

j*fWoIf j*f g+ 4  >L ljZj/fh Gof}kfg]   pkl:yt 

j*fWoIf j*f g+ 5  >L df]xgs"df/ >]i&   pkl:yt 

j*fWoIf j*f g+ 6  >L ;'o{eQm e)*f/L   pkl:yt 

j*fWoIf j*f g+ 7  >L ;ltzrGb| Gof}kfg]   pkl:yt 

j*fWoIf j*f g+ 8  >L cf]h/fh kf}*]n    pkl:yt 

j*fWoIf j*f g+ 9  >L ;"/]z yfkf    pkl:yt 

j*fWoIf j*f g+ 10  >L t"n;L/fd ;fksf]^f   pkl:yt 

j*fWoIf j*f g+ 11  >L lg/axfb"/ v*\sf   pkl:yt 

j*fWoIf j*f g+ 12  >L tf]qaxfb"/ s"+j/   pkl:yt 

j*fWoIf j*f g+ 13  >L n]vaxfb"/ /fgf    pkl:yt 

j*fWoIf j*f g+ 14  >L sfhLdfg >]i&    pkl:yt 

sfo{sf/L)fL ;b:ox?  >L tdaxfb"/ b/}    pkl:yt 

    >L sNkgf kf]v|]n    cg"kl:yt 

    >L cd[taxfb"/ g]kfnL   pkl:yt 

    >L rGb|dfof kl/of/   cg"kl:yt 

    >L dw"dfof #tL{    pkl:yt 

    >L ;"g;/L u"?ª    pkl:yt 

    >L g/Ldfof /fgf    pkl:yt 

;b:o ;lrj    >L xl/k|;fb jf¤:tf]nf   pkl:yt 

jl/i& cf=n]=k clws[t  >L s"df/sGrg lh=;L   pkl:yt 

lg)f{o g+=1M Jof; g=kf= of]hgf sfo{s|d tyf ]̂)*/x?sf] d'Nof+sg ug{ vl/b P]g cg";f/ 

lgDgfg";f/sf] d'Nof+sg ;ldlt u&g ug]{ lg)f{o ul/of] . 

-s_ k|d"v k|zf;sLo clws[t   >L xl/k|;fb jf¤:tf]nf   ;+of]hs 

-v_ n]vf clws[t     >L b)*kf)fL kf}*]n   ;b:o 

-u_ zfvf clws[t     >L d]#gfy cfrfo{    ;b:o 

-#_ OlGhlgo/     >L /ljGb|nfn d"n    ;b:o ;lrj 

-ª_ sDKo'^/ clws[t    >L uf]s)f{/fh jfUn]   cfdlGqt ;b:o  

-r_ gf=;"      >L e]if/fh ltjf/L   of]hgf zfvf cfdlGqt ;b:o  

lg)f{o g+=2M Jof; g=kf=sf nflu vl/b of]hgf lgdf{)f ug{ lgDgfg";f/sf] 3 ;b:;Lo vl/b 

OsfO{ ;ldlt u&g ug]{ lg)f{o ul/of] . 

-s_ OlGhlgo/ >L /ljGb|nfn d'n  -v_ n]vf clws[t  >L b)*kf)fL kf}*]n 

-u_ gf=;"=    >L s[i)fk|;fb kf}*]n 



lg)f{o g+=3M Jof; gu/kflnsf j*f g+=4 df sfo{/t sfof{no ;xof]uL >L a;"Gw/f 

hd/s§]nsf] s/f/ ;]jfsf] Dofb xfnnfO{ 3 dlxgf yk ug]{ lg)f{o ul/of] . 

lg)f{o g+=4M Jof; gu/kflnsfsf] PsLs[t zx/L ljsf; u"?of]hgf -IUDP_ lgdf{)f ug]{ s|ddf 

Jof; g=kf=df /x]sf] ljleGg ljifout ;ldltx?;¤u 15 lbg leq a}&s a:g] / ;f]sf] 

;+of]hg OlGhlgo/ >L /ljGb|nfn d"nnfO{ lhDdf lbg] lg)f{o ul/of] . 

lg)f{o g+=5M Jof; g=kf= sf 14 j }̂ j*f sfof{nox?sf] Joj:yfkg ;DaGwdf %nkmn  

eof] . lgdf{)ffwLg j*f sfof{nox?nfO{ k')f{tf lbg] sfo{nfO{ cufl* a(fpg] / hUuf gePsf 

j*fx?df hUuf lsg]/ j*f sfof{nosf] ejg lgdf{)f / Joj:yfkgnfO{ k|fyldstfdf /fvL 

cfjZos k|s[of cufl* a(fpg] lg)f{o ul/of] . 

lg)f{o g+=6M Jof; g=kf=sf] ;kmf ;*s l:yt df]xf]*fsf ;^/ tyf k;n sjnsf] ef*f b/ 

k"g/fjnf]sg ;ldltn] k]z u/]sf] ef*f b/nfO{ :jLs[lt ug]{ lg)f{o ul/of] . 

lg)f{o g+=7M Jof; g=kf= sfof{non] lnPsf] tYof+sx? ;+sng ubf{ k|lt u)fsn] 600 

#/w"/L;Dd ;+sng ug]{nfO{ ?=15,000. -kGw|xhf/ ?k}of_ / 600 eGbf a(L #/w"/Lsf] 

tYof+s ;+sng ug]{ u)fsnfO{ k|lt #/ w"/L ?=25. sf b/n] kfl/>lds pknJw u/fpg] 

;fy} k|lt 100 #/w"/Lsf] tYof+s ;+sng u/L g=kf= sfof{nodf a"emfpg Nofp+bfsf] cft]hft] 

j; ef*f pknAw u/fpg] lg)f{o ul/of] .  

lg)f{o g+=8M Jof; g=kf= sfof{nodf xfn} sfh ;?jf eO{ cfpg' ePsf n]vf clws[t >L 

b)*kf)fL kf}*]nnfO{ 2075 h]i& dlxgf b]vL nfu' x'g] ul/ dfl;s ?=7000. -;ft xhf/ 

?k}of_ #/ ef*f #/ wgL kbd/fh >]i& ;+u lgodfg";f/ ;Demf}tf ul/ e"StfgL lbg] lg)f{o 

ul/of] . 

lg)f{o g+=9M Jof; g=kf= sfof{no / j*f sfof{nosf] gof¤ :jLs[t b/aGbL / kbk'lt{sf] 

l:yltsf jf/]df j}&snfO{ hfgsf/L u/fOof] . 

lg)f{o g+=10M o; g=kf= cGtu{t /x]sf bdf}nL c:ktfn, :jf:Yo rf}sL / zx/L :jf:Yo 

s]Gb|, ;fd"bflos :jf:Yo OsfO{df sfo{/t c=x]=j, c=g=dL, sfof{no ;xof]uL / lhNnf 

cfo"j]{b :jf:Yo s]Gb|df k'j{sd{sf] nflu -cEof+u stf{_ cfo"j]{b cf}ifwfnox?df sfo{/t 

sfof{no ;xof]uLx?sf] ;]jf cjlw 2075 >fj)f 1 b]lv 2075 kf}if d;fGt;Ddsf nflu 6 

dlxgf Dofb yk u/L ;]jf k|jfx / sfof{no Joj:yfkgdf nufpg] lg)f{o ul/of] . 

lg)f{o g+=11M Jof; gu/kflnsf j*f g+=3 l:yt kmf]xf]/d}nf ;+sng sfo{sf nflu cf=j= 

2074÷075 df >L g]v"/fd v*\sLnfO{ dfl;s ?=70,000. -;Q/L xhf/ ?k}of_ df lhDdf 

lbOPsf] df cf=j=2075÷076 sf nflu cf=j=2074÷075 sf] /sddf 10% a[lå u/L lgh 

>L g]v"/fd v*\sLnfO{ ;f] sfo{sf] lhDdf lbg] lg)f{o ul/of] . 

lg)f{o g+=12M Jof; gu/kflnsf j*f g+=3 l:yt ;fj{hlgs zf}rfno l/v" bd} Jof; 3 nfO{ 

dfl;s ?=5500. -kf¤r xhf/ kf¤r ;o ?k}of¤_ df &]Ssf nufOPsf]df zf}rfnosf] &]Ssf 

;Demf}tfsf] Dofb oxL 2075 cfiff( d;fGtdf ;dfKt ePsfn] pNn]lvt dfl;s ?=5,500. 

sf] 20% n] a[lå u/L dfl;s ?=6,600. -% xhf/ % ;o ?k}of¤_ df ldlt 2075÷04÷01 

b]lv 1 jif{sf nflu &]Ssf ;Demf}tf gjLs/)f ug]{ lg)f{o ul/of] . 


